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Question Number : 1 Question Id : 68019112725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a singleton set?

1. {x: x| =5, xeN}
2. 5 ] =9, 37}
3. oS T 1=0,xEN}

4. {x: x* =5, xEN}
Options :
68019150201. 1
68019150202. 2
68019150203. 3

68019150204. 4

Question Number : 1 Question Id : 68019112725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150201. 1
68019150202. 2
68019150203. 3
68019150204. 4

Question Number : 2 Question Id : 68019112726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let R be a relation defined by R={(a.b):a=b.a. b€ E}. Then R 18

. an equivalence relation

. reflexive. transitive but not symmetric
. symmetric. transitive but not reflexive
4. only reflexive

| S

L]

Options:

68019150205. 1
68019150206. 2
68019150207. 3

68019150208. 4

Question Number : 2 Question Id : 68019112726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



OFTR={(a,b):a=b.a be 5} GRITRHINITH GEY RBITIR

1. U9 qoddl 98Y §
 aqe qUT UMD § A Gafid el o

AT 9YT GpHEe Al Wded T8l ©
4. $aq W §

Options :

LT )

68019150205. 1
68019150206. 2
68019150207. 3

68019150208. 4

Question Number : 3 Question Id : 68019112727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Function flx)=cos x, x € R 1s

1. an even function

2. an odd function

. neither even nor odd function
4. a power function

L]

Options:

68019150209. 1
68019150210. 2
68019150211. 3
68019150212. 4

Question Number : 3 Question Id : 68019112727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

e

68019150209. 1
68019150210. 2
68019150211. 3

68019150212. 4

Question Number : 4 Question Id : 68019112728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1+4)"

The number ———— 1s equal to
An=2
(1-i)
¢ i 3
11' -3
4in+ 2
£ AR
Options :

L o

68019150213. 1
68019150214. 2
68019150215. 3

68019150216. 4

Question Number : 4 Question Id : 68019112728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019150213. 1
68019150214. 2
68019150215. 3
68019150216. 4

Question Number : 5 Question Id : 68019112729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Solution of x2-10/ <6 is

1. (2.4)

2.0 4.-2)
(4-2)U (2.4)
[-4.-2] U [2.4]

o Laa

Options :

68019150217. 1
68019150218. 2
68019150219. 3
68019150220. 4

Question Number : 5 Question Id : 68019112729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2-10/ <6 BT

1.(2.4)

2. (—4.-2)

3.(4-2)U (24)

4. [-4-2]U[24]
Options

68019150217. 1
68019150218. 2
68019150219. 3

68019150220. 4

Question Number : 6 Question Id : 68019112730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A 1s an Orthogonal matrix then

1.|A|=0
2. Al ==1
3. Al =%2
4. |A| =3
Options:

68019150221. 1
68019150222. 2
68019150223. 3
68019150224. 4

Question Number : 6 Question Id : 68019112730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Al =0
A =21
5 :‘ﬁL;=:2
4. Al =3
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Options :

68019150221. 1
68019150222. 2
68019150223. 3

68019150224. 4

Question Number : 7 Question Id : 68019112731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. ) .
If 0. P are roots of the equation ax~ + bx + ¢ = 0, then the equation whose roots are 2o + 3f and

1. a2y + Sacx + 6e2+be =0

2. 2%t +Shex+6b% +be=0
3. 22+ Gabx + Sh2+ac =0
4, atxt + Sabx + 6hf + ac =0

Options:

68019150225. 1

68019150226. 2

68019150227. 3

68019150228. 4

Question Number : 7 Question Id : 68019112731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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cal + Sacx +6el +be=0
a+ Sbex +6bi+be=0
catxt+ Gabx + 5b2 +ac=0
4. al? + 5abx + 6b2 + ac =0

Options:

L

68019150225. 1
68019150226. 2
68019150227. 3
68019150228. 4

Question Number : 8 Question Id : 68019112732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

12 persons are to be arranged on a round table. If two particular persons among them are not to
sit side by side, the number of arrangements 1s

1.9(101)
2.2(10)
.8 (451)
10!

Options :

]

68019150229. 1
68019150230. 2
68019150231. 3

68019150232. 4

Question Number : 8 Question Id : 68019112732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019150229. 1
68019150230. 2
68019150231. 3
68019150232. 4

Question Number : 9 Question Id : 68019112733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
The coefficient of X2 in the expansion of (1 + 4x + 1‘2‘,11 2 is

=3
—2
.—3/2
i
Options :

| R

Taa

68019150233. 1
68019150234. 2
68019150235. 3

68019150236. 4

Question Number : 9 Question Id : 68019112733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019150233. 1
68019150234. 2
68019150235. 3
68019150236. 4

Question Number : 10 Question Id : 68019112734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If (ﬂ

[— 1s the Arithmetic Mean between a and b then n is equal to
" )
a +b ]

i+ n+11
+ b

.0
=1

|

Tad
I =

4.
Options:
68019150237. 1
68019150238. 2
68019150239. 3
68019150240. 4

Question Number : 10 Question Id : 68019112734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019150237. 1
68019150238. 2
68019150239. 3
68019150240. 4

Question Number : 11 Question Id : 68019112735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Domain of the function f(x)=/logz(sinx)
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Options:

68019150241. 1
68019150242. 2
68019150243. 3
68019150244. 4

Question Number : 11 Question Id : 68019112735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Pl Filx)= J logs(sin x) WW%
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Options :

68019150241. 1
68019150242. 2
68019150243. 3

68019150244. 4

Question Number : 12 Question Id : 68019112736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. “2cosx -1
lim —1 =
1 cotx

| ]

Options :

68019150245. 1
68019150246. 2
68019150247. 3

68019150248. 4



Question Number : 12 Question Id : 68019112736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. “2cosx -1
lim —— =

o5 cotx—]

| ]
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Tad

£
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Options:

b2

68019150245. 1
68019150246. 2
68019150247. 3

68019150248. 4

Question Number : 13 Question Id : 68019112737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true?

(A].i[sin_r) =cosx,Vxe R
dx

(B). i{msr} = —sinx,Vx € R
cx

L.f 3 :
(C). T{lﬂn x) —sec>x.xeR - {(2:: +1)x / 2:-.11 e’/
X

/ :
(D).fT(sucx} =secx tanx,x eR—{(2n+1)7/2},neZ
ax

Choose the correct answer from the options given below:

. (A). (B). (C) only

_(A). (B). (C). (D)
. (A). (D). (C) only
(C). (B). (D) only

|

o g

Options :

68019150249. 1
68019150250. 2
68019150251. 3
68019150252. 4

Question Number : 13 Question Id : 68019112737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). i[eain_r:} =cosx,Vx € R
dx

(B). %{uusx} =—sinx,Vx e R
ax

/ .
(C). :r—{lanx} =sec’x,xeR - {@n+1)z/ 2},” eZ
ax

/
(D). i{sccr} =secx tanx,xeR—{(2n+1)7/2},neZ

- fau e fawenl T 9 981 SR I |

1. ®ad (A). (B). (C)
2. (A). (B). (C). (D)

3. ®dd (A), (D). (C)
4.%Hdd (C). (B). (D)

Options :

68019150249. 1
68019150250. 2
68019150251. 3
68019150252. 4

Question Number : 14 Question Id : 68019112738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true?

(A). Icnscc xcotx dx ==cosecx+C

(B]_I- _lﬂLi‘u"L?—ﬂ +C
\/1.

c ;J

( jj.tanrn 1 ug|:.mr +C
J' sin~ —H’

(D.)
\/‘-’? -1 —C08 —HT

Choose the correct answer from the options given below:

. (A). (C). (D) only
. (A). (B). (C) only
. (B). (A). (D) only
. (C). (B). (D) only

a3 =

e faa

Options :

68019150253. 1
68019150254. 2
68019150255. 3

68019150256. 4

Question Number : 14 Question Id : 68019112738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



EEREIE R,

(A). jcnscc xcotx dx =—cosecx+C

dx | / 2 2
I:B)"[—\f % :Ing|m‘1 —a
x"—a

+C

log|sec x|+ C

(C).[mm dx —{

log|cos x|+ C

P T .
sin I +(
dx a

\/a-i 2 i —cos 124 C

- fau e fdenl O 9 9ol S 3|
1. Pad (A), (C). (D)
2. Had (A). (B). (C).

3. ®dd (B). (A). (D).
4. %dd (C). (B). (D).

Options :

@.)]

68019150253. 1
68019150254. 2
68019150255. 3
68019150256. 4

Question Number : 15 Question Id : 68019112739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true?
(A) The equation of a circle with centre (h.k) and the radius r1s (x — h)E + (v - F =2

(B) The equation of Parabola with focus at (a.0). a > 0 and directrix x = -a is y* = 4ax
(C) The equation of Ellipse with foci on the x-axis is ©_ ;2 _

at  b*
(D) Length of the Latus rectum of the ellipse ; Y E —1 i8 20

ﬂ' ¥ a

bl

Choose the correct option from the below

(B). (C) only
(B). (D) only
(D). (C) only

1. (A),
1 A).
A),
(C). (B). (D). (A).

.r"_‘\.'"_‘\.—"_‘\.-"_‘\

Options :

68019150257. 1
68019150258. 2
68019150259. 3

68019150260. 4

Question Number : 15 Question Id : 68019112739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(A) 5 (h. k) 3R BT » Tl 01 DT YHIBRT (x— )2 + (v - b2 =2 T
(B) M (a. 0), a > 0 TUT G x = —¢. TTC TRIAT BT THIDI ) = dax &
(C) x - 38 TR AL ard aﬁ“ﬁhﬁﬁrﬂrﬁaﬂm_+_.—1%
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1. &dd (A). (B). (C)

2. %ad (A). (B). (D)

3.%ad (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019150257. 1
68019150258. 2
68019150259. 3



68019150260. 4

Question Number : 16 Question Id : 68019112740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If £ (x) 1s periodic with period T. then which of the following are true?

htnl - h , ;

A) : = (x where n 18 an integer

@) f(x)ae =] f(x)dx, g

B)[“ f " here 1 is an integer

(B) u J {.‘r}dx = L} i {.1‘}.95(- where # 18 an mteger
r T . :

(C]L:r flx)dx=n jn £ (x)dx -where n is an integer

a+nl

)

Choose the correct answer from the options given below:

_ P : :
f(x)dx=n In f(x)dx . where n 15 an integer

. (A). (B). (C) only
_(B). (C). (D) onl
.(B). (A). (D) only
(A). (B). (C).(D)

fad d =

.

Options :

68019150261. 1
68019150262. 2
68019150263. 3
68019150264. 4

Question Number : 16 Question Id : 68019112740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe f(x) 3M@d T ﬁ!a{m‘cﬁ"w%ﬂ‘rﬁaﬁﬁaﬁqéwﬁ?
W[ f(x)av =] £ (x) e, T n T 0D g

a+rnl

(B). JHH Y)dx = -:"j.{_,{_}dt_ STeT n U qUIT g

-

(©)-[" £ (x)ds =n [ £ (x)dx. ST n T U &1

©).[*" J (x)ds =n [ /(x)ds. T n TP TOIP T
A= feu U foeedl o 9 get 3w 1

1. ®ad (A). (B). (C)
2. %44 (B). (C). (D)

3. 944 (B), (A). (D)
4. (A). (B). (C).(D)

Options :

68019150261. 1
68019150262. 2
68019150263. 3

68019150264. 4

Question Number : 17 Question Id : 68019112741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

(A). Equation of the line passing through (x;, y;) and parallel to the line ax + by + ¢ =015
a(y-y)+bx-x)=0

(B). Equation of the line passing through (x;. y{) and perpendicular to the line ax + by + ¢ =013
b(x-x)-a(y-y)=0

(C). Equation of the line passing through (x;. y;) and making an angle 6 with the

liney=xtana+ecis y-y =tan (a=0) (x-x;)

: ‘ apr « & ¥
(D). Equation of the line if its intercepts on the axes are a. b 1s = te= |
a o

Choose the correct answer from the options given below:



Options :

68019150265. 1
68019150266. 2
68019150267. 3
68019150268. 4

Question Number : 17 Question Id : 68019112741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 U AT
A) (x.0) @Wﬂﬁmﬁﬁng— b}'+c=0$ﬂﬂﬁiﬂ?%fﬂwﬂ?

a(y-y)tb(x-x)= 0%’

: xk.mé‘ﬂaﬁa’lﬁﬂ%m ol ax + b}‘-l-c:ll]tﬁf“lﬁ% WWE}[—'{—HHU’—H}
:0%
(Q). (xl.}'l)@ﬂaﬁaﬁw.\_{l}f }'=xta11u—icwa?ﬂw GWW%WW y-
¥ =tan (a = 6) {x—xl)%
D) 39 341 BT FHISRO S 318l R AT 0 3R b BIedl 8l i+-?")':1 g
I feu U fowedi 3§ 951 SR

1. %44 (B). (C). (D)

2.4 (A). (B). (C)

3.94d (A), (D), (C)
4. (A). (B) (C ) (D)

Options :

68019150265. 1
68019150266. 2
68019150267. 3

68019150268. 4

Question Number : 18 Question Id : 68019112742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true?

(A) Line Ix + my + n =0 will touch the circle x* + 1% + 2gx + 2fp + ¢ =0 if
(lg+mf-n)=(F+m?) (g +f?~c)

(B) If centre is (h. k) and radius 1s r then equation of the circle 1s (x — h): + (v— b =72
(C) If coordinates of the end poimnts of the diameter of a circle are (x,.y;) and (x,. y,) then
equation of the circle 1s (x —xy) (x —x) (v =y v —37) =0

(D) General point on a circle x*+ 1% = a” is (a sin 6, a cos 8)

Choose the correct option from the below

1. (A). (B) and (D) only.
l. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019150269. 1
68019150270. 2
68019150271. 3
68019150272. 4

Question Number : 18 Question Id : 68019112742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEERCIER RO
A]i@hﬁml+n—OQﬂrﬁ+13—ng+2ﬁ‘+c=Daﬁwmﬂﬁ
[fcr-l-mf—n}‘— '—m'}[t, f‘—c %’

(B) TE I% (1. k) © IR 541 » & Ol T4 BT GHIIRUI (x — h)> +g,_-_ 2=~ Bl

Hﬁﬁﬁ@%ﬁﬂﬁ%ﬂﬁgﬁ%ﬁfwﬁ (x,7) AR (x5, 37) © 1 A BT
WUT (x=x) (=) + (-y1) ('~ y,) = 0TI
(D) Us gd _xj—v1'2=azq?Wﬁ§ (asin 6. a cos 8)%
Fafcfad o 9 get fdoe 9+

1. %ad (A). (B) IR (D)

2. %4t (A). (B) 3R (C)

3.(A). (B). ( Sﬂ?(D
4, W(B). () HR (D

Options :
68019150269. 1



68019150270. 2
68019150271. 3

68019150272. 4

Question Number : 19 Question Id : 68019112743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tan 6 =
l—cos20

A) ——

(&) sin2 0
sin2

B). sin2

( ) l+cos28

(C) (1—cos2 b

.
\1+cos20

cos20

(D).

1+cos26
Choose the correct answer from the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only
. (A). (B). (C) and (D)
4. (B). (C) and (D) only.

Fag b2 —

Options:

68019150273. 1
68019150274. 2
68019150275. 3

68019150276. 4

Question Number : 19 Question Id : 68019112743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tan 6 =

l—cos2 0
A).
(&) sin2 0
sin2
B). in
( ] |l +cos20

1—-cos2@
(C). |
I ‘Iqll Feos2 B

(D] ___::n_-;;' B

1+cos2b

A feu e fosedl § 9 gl SuR I |

1. ®dd (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.(A). (B). (C) 3R (D)

4.%ad (B). (C) 3R (D)

Options :

68019150273. 1
68019150274. 2
68019150275. 3

68019150276. 4

Question Number : 20 Question Id : 68019112744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If a., b. ¢ are the lengths of BC. CA and AB of a triangle ABC respectively then
(A). tan [(B-C)/2] = [(a-b)/(a + b)] cot (A/2)

(B). tan [(C-A) / 2 ] = [(c-a) / (c+a)] cot (B/2)

(C). tan [(B-C)/ 2 ] =[(b-c) / (b+c)] cot (A/2)

(D). tan [(A-B) /2 ] =[(a-b) / (a+b)] cot (C/2)

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only
3. (A). (B). (C) and (D)
4. (B). (C) and (D) only.

Options :



68019150277. 1
68019150278. 2
68019150279. 3

68019150280. 4

Question Number : 20 Question Id : 68019112744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(¢ a, b, c UP [AYS ABC B HHTT: BC. CA 3R AB &I GdTs 5. dl
(A). tan [(B-C)/2] = [(a-b)/(a + b)] cot (A/2)

(B). tan [(C-A) /2 ]=[(c-a) / (c+a)] cot (B/2)

(C). tan [(B-C)/ 2 ] =[(b-c) / (b+c)] cot (A/2)

(D). tan [(A-B) /2 ] = [(a-b) / (a+b)] cot (C/2)

e feu e fae el o 9 get 3w I

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (0)
3. (A). (B). (C) 3R (D)

4.%dd (B). (C) 3R (D)

Options:

68019150277. 1
68019150278. 2
68019150279. 3
68019150280. 4

Question Number : 21 Question Id : 68019112745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A student was asked to prove a statement by induction. The student proved (1) P(5) 1s true and
(i1) truth of P(n) = truth of P(nt+1). n € N. On the basis of this , the student could conclude that
(A). P(n) 1s true for no value of n

(B). P(n) 1s true foralln < 5

(C). P(n) 1s true for all n

(D). P(n) 1strue foralln =5

Choose the correct answer from the options given below:

.(C) only
A)and (B)only
C) and (D) only.

1. (D) only
2
3

—, — — —

4.
Options :
68019150281. 1
68019150282. 2
68019150283. 3

68019150284. 4

Question Number : 21 Question Id : 68019112745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TP B DI SHTHA Y T U By Bl Rig - & [qu de1 741 | B - i {61 (1) P
(5)TAE M ()P () TIE = P(a+ 1) JUE, ne NI 3P MYR R BH Y IR
gl i

A) P(n}Wﬁn%Wﬂ%ﬁﬁ%

B Win<sFUITE

C)P () G o & AU TR

D)P () T nzsF U TR

T< fau T fadbedl & § F6l ST |

L.
2

(
(
(
(

Options :

68019150281. 1
68019150282. 2
68019150283. 3



68019150284. 4

Question Number : 22 Question Id : 68019112746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true?

oS
: —_—
(n—1)!

n=0

(B]Zn_l f;‘*’%"’%*’ ....... w=¢-1
(G s e r=§+_:+ ........ w=e-2
(21 et =14 = 4..m=e-3

0 (n+2)! 2! 3!
Choose the correct answer

.(A).(B)and (D) only.
. (A). (B) and (C) only.
.(B). and (D) only
(A) (B) (C) and (D)

Ia =

e faa

Options :

68019150285. 1
68019150286. 2
68019150287. 3

68019150288. 4

Question Number : 22 Question Id : 68019112746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FgddsR I g

3 ]Z (n - 1)'

n=0

1 1 1 1
B Epm= =T+ o+ o How=el

5. 2! 3
1 1
(CJEII_Er 1+ﬁ}'= E+ E-]- ...... :-C—e-z
1 1
(D)Zn D{1+"':r'= §+ ;-!- ..... 0= =3
el SR I

1. %ad (A). (B) 3R (D)

2.%dd (A). (B) 3R (0)
3.%ad (B) 3R (D)
4. (A). (B). (C) 3R (D)

Options :

68019150285. 1
68019150286. 2
68019150287. 3

68019150288. 4

Question Number : 23 Question Id : 68019112747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
. sinx
Al lim I |0
ey | X
sin"tx
B. [lim I |e
X=0 b 4

|
C | lim(1 + x)x |1 1

x—0
D. |lim tanx IV >
x=0 180°

Choose the correct answer from the options given below:

(A) - (I). (B) - (ID). (C) - (II1). (D) - (IV)
. (A)- (1), (B) - (IIT), (C) - (II), (D) - (IV)
(A) - (IV), (B) - (IT). (C) - (II). (D) - (I)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

2 =

e Laa

68019150289. 1
68019150290. 2
68019150291. 3

68019150292. 4

Question Number : 23 Question Id : 68019112747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

I T
. sinx
Al llm I |0
| X
sin"*x
B. [lim I |e
X=0 X

|
C | lim(1 + x)x |1 1

r—i
: 13
D. |im tanx V.
x=0 180°
FafeiiRad fadedl & O 9l 3R &1 99 $Ifoi :

L. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
3. (A) - (IV). (B) - (IIT). (C) - (IT). (D) - (I)
4. (A) - (ID), (B) - (IV). (C) - (I). (D) - (II)

Options :

68019150289. 1
68019150290. 2
68019150291. 3

68019150292. 4

Question Number : 24 Question Id : 68019112748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
, 1 _ 1
A J[:ﬁn(Iugx}+cus{lﬂgx}]¢£r I E{r+]ng[smx+m5x}]—{
Ix X
B._[ = IL|log |l + tan—|+ C
| +sinx +cosx 2
COSX +Xsinx _ )
c. I dx 111 |x sin (log x ) + €
x(x+cosx)
COSX * .
D. j— dx V. Ing(—]+(
SIN X + COSX X+CoSx

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
. (A) - (IV). (B) - (II). (C) - (II). (D) - (I)
. (A) - (). (B) - (IV). (C) - (II). (D) - (I)
4. (A) - (ITT). (B) - (IT). (C) - (IV). (D) - (I)

g b3 —

Options :

68019150293. 1
68019150294. 2
68019150295. 3

68019150296. 4

Question Number : 24 Question Id : 68019112748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yal-1eh HIUgEI-11 D1 GHierd &
a1 g I

A J[:ﬁn(Iugx}+cus{lﬂgx}]¢£r I ,}l{r+]ﬂﬂ[ﬂiﬂl'+'3ﬂ5ﬁ')]—{"

a—

- I
B. = 1L {log

Y | +s8Inx+cosx

+C

X
| +tan —
5

FCOSX +XSiny _ )
c dx 111 |x sin (log x ) + €
ol +:::05x)

r COsS XY X a
D|| ———dx IV, Ing(—]+(

T SINX+COosXx X+COosx
Frafeiad fdeedl § O gt 3wk &1 99 DIl ;

1. (A) - (V). (B) - (II1). (C) - (II). (D) - (I)
2. (A) - (IV). (B) - (IT). (C) - (ITT). (D) - (I)
3.(A) - D). (B) - AV). (C) - (I). (D) - (D)
4. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)

Options:

68019150293. 1
68019150294. 2
68019150295. 3
68019150296. 4

Question Number : 25 Question Id : 68019112749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

A |Circle with origin as centre and radius 'a’ | I |2 + J-: 42—
K P .

B. |Sphere with centre at origin and radius 'a'| 1L F T b—: = 1™ B Saie )

C. |Hyperbola IL [% +1% =&

: % SE T W

D. |Ellipze V. —_—t—_= lﬁ“hﬁ'ﬁﬂ =a(l-e))

a* "

Choose the correct answer from the options given below:

1. (A) - (). (B) - (ID). (C) - (TII). (D) - (IV)
2. (A) - (1), (B) - (IIT), (C) - (II). (D) - (IV)
3. (A) - (1I1). (B) - (I). (C) - (II). (D) - (IV)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

P T i i

Options :

68019150297. 1
68019150298. 2
68019150299. 3
68019150300. 4

Question Number : 25 Question Id : 68019112749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il 1 T g 11 ¥ e 3

bl T I
A |[gafEedg g Mg WAR B e |1 |2+)2+~2=4

B. [viie forerepT g el fig R aw Bena g | 1L E _L_ | (162 = (e 1))

a® b2

C. |3ffduraay L |2 +)2 = &2
D. [§dTd IR‘.E.;.:_I(GFS’M—::{J@})

b..-

) - (I1), (C) - (IID), (D) - (IV)
) = (II). (C) - (II). (D) - (IV)
(B) - (D). (C) -(IL). (D) - (IV)
.(B) - (IV). (C) - (1), (D) - (1I)

68019150297. 1
68019150298. 2
68019150299. 3

68019150300. 4

Question Number : 26 Question Id : 68019112750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the value of the variable which divides the total observations into two
equal halves.

1. Anithmetic Mean
2. Median

3. Mode

4. Standard Deviation

Options :

68019150301. 1
68019150302. 2
68019150303. 3

68019150304. 4



Question Number : 26 Question Id : 68019112750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR P18 B ¢ ol P Hadid-l Dl gl SRI6R [gedl H faUIiSd dar g |

1. TR H1

2. TIfeyepT

S.Wﬁ

4. HIHP lgdci-
Options:

68019150301. 1
68019150302. 2
68019150303. 3

68019150304. 4

Question Number : 27 Question Id : 68019112751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The arithmetic mean of squares of first n natural numbers is

n(ntl)/2
(n+1)/6
.n+1)(2n+1)/6
(n2-1)/6

I =

[ W]

Options :

68019150305. 1
68019150306. 2
68019150307. 3

68019150308. 4

Question Number : 27 Question Id : 68019112751 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TYH 1 o YUTeh] & G711 o] GHIGR T |

.n(ntl)/2
Ant1)6
(n+1)(@2n+1)/6
4. (n%-1)/6

|

L]

Options :

68019150305. 1
68019150306. 2
68019150307. 3
68019150308. 4

Question Number : 28 Question Id : 68019112752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Coefficient of correlation is independent of

1. shift of origin and change of scale.

2. shift of origin but not change of scale.

3. change of scale but not shift of origin.

4. neither shift of origin nor change of scale.

Options :

680191503009. 1
68019150310. 2
68019150311.3

68019150312. 4

Question Number : 28 Question Id : 68019112752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 7d fog H 93ad 3R YHH(EPA) & IRGd ¥

2. 4 feg & gard difd $ik U8 o &g yRdd- el
3. U9 © uRaaH dfdd gafdg H gaard ol |

4,9 qd f45 ¥ 9aara 3R A &l U9 & gRaa— 9

Options :

68019150309. 1
68019150310. 2
68019150311. 3
68019150312. 4

Question Number : 29 Question Id : 68019112753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following measures of dispersion 1s easiest to understand and easiest to calculate?

1. Mean Deviation

2. Mode

3. Range

4. Standard Deviation

Options :

68019150313. 1
68019150314. 2
68019150315. 3

68019150316. 4

Question Number : 29 Question Id : 68019112753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



?ﬁ%ﬁﬁ%ﬂﬂﬁ%ﬂh%%ﬁmmmﬂﬁﬁwmﬁ &Y A9 gl

1. 18 faee
,

). gD
3. RN

4, 9P fageH

Options :

68019150313. 1
68019150314. 2
68019150315. 3

68019150316. 4

Question Number : 30 Question Id : 68019112754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let xy. x........ X,, be n observations with ¥ as the mean. the variance 1s given by

2 ‘i:Z{.lt—‘t)E
3 %Z{l -% )
I
l q
4. |=Z(x;-x)*°
N;'H
Options :

68019150317. 1
68019150318. 2
68019150319. 3
68019150320. 4

Question Number : 30 Question Id : 68019112754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
O AT 2 D&l x,. xou....... x,, BTHH £ 8. ol 59D] TRV §

| R

| =
™M
—

= -
I

-
—

%]

n
3.2y (x;— % )
n
1
4. |=%(x; —x)°
'\l n
Options :

68019150317. 1
68019150318. 2
68019150319. 3
68019150320. 4

Question Number : 31 Question Id : 68019112755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Marks obtained by four students are 25. 35, 45, 55. The mean deviation from the mean i3

1. 10
5 3

L]
=l

4,12
Options :

68019150321. 1
68019150322. 2
68019150323. 3
68019150324. 4

Question Number : 31 Question Id : 68019112755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
IR BE R U 3§ 25.35.45.55 € | O1H 3 o1 faga-1

0

fag 2 —
(R s LYy

4,
Options :

q

68019150321. 1
68019150322. 2
68019150323. 3

68019150324. 4

Question Number : 32 Question Id : 68019112756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Quartile deviation of daily wages (in Rs.) of 7 persons is given 12.7,15.10,17. 17. 25 18
1. 16
2.5
3.5.5

4.4.5
Options :
68019150325. 1
68019150326. 2
68019150327. 3

68019150328. 4

Question Number : 32 Question Id : 68019112756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



7 Afaadl PI ¢ Hoigdl (99 ) 12.7.15.10,17.17.25 BT 944 faga- 3

.16

ad =

[,

e
4.4.5
Options:

Tad
-]

68019150325. 1
68019150326. 2
68019150327. 3
68019150328. 4

Question Number : 33 Question Id : 68019112757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spearman's formulae for correlation. if d is diffrence between the ranks and # 18 the number of
pairs in the data, 1s

6).d*
L 1+§—
n(n®—1)
o
nn*-1)
> 6Y.d>
T onmi-1)
di
4.1+ Eﬂ—
nn®—1)
Options:

68019150329. 1
68019150330. 2
68019150331. 3
68019150332. 4

Question Number : 33 Question Id : 68019112757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TeTey & o0 WRE & T T2 4 3 o o1 31 R S IR o Hemi F gfi 3 g 2. %

6).d
n(n®-1)
zd*
nn*-1)
ST

n(n?-1)
X
nn?-1)

—

14

| ]

L]

4.1+

Options :

68019150329. 1
68019150330. 2
68019150331. 3

68019150332. 4

Question Number : 34 Question Id : 68019112758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The line of regression of x on y estimates

1. x for given value of y
2. y for given value of x
3. covarinace of x and y
4. mtercept of x

Options :

68019150333. 1
68019150334. 2
68019150335. 3

68019150336. 4

Question Number : 34 Question Id : 68019112758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
y TR x @ THIYYUI 341 ATHa- T ©

.y P AU TUHAE & fdux &1
x P AUMUHA & AUy &1
 x 3R y BT TEHIRUI

4. x P 3d: G
Options:

fas b —

68019150333. 1
68019150334. 2
68019150335. 3
68019150336. 4

Question Number : 35 Question Id : 68019112759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If x, y are two independent variables then

cov. (X, y)=1
.cov. (x.y)=-1
.cov(x,y)=0
.cov. (X, y)==1

| R

S )

Options :

68019150337. 1
68019150338. 2
68019150339. 3

68019150340. 4

Question Number : 35 Question Id : 68019112759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



l.cov.(x.y)=1

2. cov. (x, y)=-1

J.cov(x.y)=0

4. cov. (x.y)==1
Options :

68019150337. 1
68019150338. 2
68019150339. 3

68019150340. 4

Question Number : 36 Question Id : 68019112760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a binomial distribution B (n, p)

1. Mean = Variance
2. Mean > Variance
. Mean < Variance
4, No relation exists between Mean and Variance

Taa

Options:

68019150341. 1
68019150342. 2
68019150343.3

68019150344. 4

Question Number : 36 Question Id : 68019112760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



f6Ug §¢ B (n. p}%%‘q

1. T80 = G0
2. HTSH > TERT
3. TS < UER0T
4. T10 AUT UER0T & &g Bl 96 7ol o

Options :

68019150341. 1
68019150342. 2
68019150343. 3

68019150344. 4

Question Number : 37 Question Id : 68019112761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For any given set of observations, which of the following relationship is correct?

1. arthimetic mean > geometric mean = harmonic mean
2. arthimetic mean < geometric mean < harmonic mean
3. arthimetic mean < geometric mean > harmonic mean
4. arthimetic mean > geometric mean < harmonic mean

Options :

68019150345. 1
68019150346. 2
68019150347. 3
68019150348. 4

Question Number : 37 Question Id : 68019112761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



femdt f&d 7Tu Dot & ey & forg . FAafaf@a o § & a1 gey 981 82

1. JHIGR 11 = VIR T14 = B 01
2. JHIR AT < TUIRR HIH < §IHP A1
3. JHG A1 < TUIRR A1 = gD J18
4. JHIGR {1 = TUIRR A1 < BRIHS HIE

Options :

68019150345. 1

68019150346. 2

68019150347. 3

68019150348. 4

Question Number : 38 Question Id : 68019112762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Objectives of measures of dispersion are

(A). to judge the reliability of measures of central tendency

(B). to make the comparative study of variablity of two series

(C). to get a single value which is representative of mass data.
(D). to obtain other statistical measures for further analysis of data
Choose the correct answer from the options given below:

. (A). (B). (D) only
. (B). (C). (D) only
. (A). (D). (C) only
_(B). (D). (A). (C)

Ia =

e g

Options :

68019150349. 1
68019150350. 2
68019150351. 3
68019150352. 4

Question Number : 38 Question Id : 68019112762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JBI S AU P IS

(A) g Ugii & A9} DI [a4E-1ad BT HTHa- BT

(B) & AfUrdl 1 gRad=ad] BT qaTdS ST HRAT

(C) Ushd | Sl W[ Ueful &1 UfafHiea &edl § &l U &A1

(D) 30 GiRSTD T T W BT orey Weful ol 1 Ui fawayr g1 9d
e feu v fae el o 9 gel 3w I

1. ®ad (A). (B). (D)
2. %4d (B). (C). (D).
3.%4d (A). (D), (C)
4.(B). (D). (A). (C)

Options :

68019150349. 1
68019150350. 2
68019150351. 3

68019150352. 4

Question Number : 39 Question Id : 68019112763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true?

(A). Standard Deviation 1s independant of the change of origin

(B). Standard Deviation 1s minimum root mean square deviation

(C). Coefficient of standard deviation is obtained by dividing the standard deviation by the
arithmetic mean

(D). Probability error is equal to 0.67 x standard deviation

Choose the correct answer from the options given below

Options:

68019150353. 1
68019150354. 2
68019150355. 3

68019150356. 4



Question Number : 39 Question Id : 68019112763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEEIeRIT

A) HHe fade e fig & IRad 3 W ¢
(B) TG fdger gAaH e el a7l fader

(C) T fdge &1 Ui FHicR A1 §RI B fdder P fauifod $d W1 fovd ol §
(D) Wbl Ffe 0.67 x TS fddeH & sXaX g

T feu T fowedl & 9 951 SR
(B).(C).
(

1. ad
2. 9dd (B), (C). (D).
8

A).

(
(B).

3.9ad (B). (A), (D).

4.(A). (B).(C), (D)
Options:
68019150353. 1
68019150354. 2
68019150355. 3

68019150356. 4

Question Number : 40 Question Id : 68019112764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In case of normal distribution. the relationship between mean and deviations are:

(A). Mean = Quartile Deviation covers 50% of the observations of the distribution

(B). Mean = Mean Deviation covers 57.5% of the observations of the distribution

(C). Mean = Standard Deviation covers 68.27% of the observations of the distribution
(D). Mean = 2 Standard Deviation covers 99.73 % of the observations of the distribution
Choose the correct answer from the answers given below

(A). (B
(A). (B
3.(A). (D)
4.(B). (D

). (C) only
). (C). (D).
). (C) only
). (A) only
Options :

68019150357. 1



68019150358. 2
68019150359. 3

68019150360. 4

Question Number : 40 Question Id : 68019112764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g & o, J1ey 3R fdgai & g 969y 59 UK &
(A) H1 + IqUe fadeH, 924 & 50% UEUI Pl HaR Bl o
(B) T1¢0 + H1¢7 faga, §e7 & 57.5% U&Ull &l o Hidl g
(C) T1 + A [dge. dc- & 68.27% U&TUT & Ha Hdl o
(D) HIHH = 2 A [Gga-. §e- & 99.73% U&UT &I Had Hdl o

-9 f3U T SR ¥ 9 el SO I
1. ®ad (A). (B). (C).
2. (A). (B). (C). (D).
3.%dd (A), (D). (C),
4. %dd (B). (D) (A)

Options :

68019150357. 1
68019150358. 2
68019150359. 3

68019150360. 4

Question Number : 41 Question Id : 68019112765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true?

(A). Coefficient of Quartile Deviation 1s (Q3 - Q) / (Q3 T Qy)

(B). Coefficient of Quartile Deviation 1s (Q5 + Q) / (Q3 - Q)

(C) The relationship between mean. median and mode 1s Mode = 3Median-2 Mean

(D)The relationship between mean, median and mode 1s Mode = 2Median-3 Mean
Choose the correct answer from the options given below

1. (A). (D) only
2. (A). (C) only.
3. (B). (D) only
4. (B) .(C) only

Options :

68019150361. 1
68019150362. 2
68019150363. 3

68019150364. 4

Question Number : 41 Question Id : 68019112765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEFIsAITE

(A) TSP fG=e BT (Q;- Q,)/(Qz +Qy) &

(B) IGUP AT BIUM® (Q; +Q/I(Q3-Q ®

(C) HIeH, AIfI®T 3R g0 & ad Uael, 9gaP = 3HfEbl2 A g
(D) H1ed, AfeTdT R 9ga® & §id Uae. §gad = 201S@1-3 eI g
1 feu e fosedl § 9 98l SR 4

1. ®ad (A). (D)
2. Had (A). (C)
3.%ad (B). (D)
4.%dd (B). (C)

Options :

68019150361. 1
68019150362. 2
68019150363. 3

68019150364. 4



Question Number : 42 Question Id : 68019112766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true?

(A). Median can be graphically determined from Ogive

(B). Range 1s measure of Dispersion

(C). Mean deviation from the median is greater than that measured from any other value
(D). Mean 1s the most suitable measure of central location when distribution 1s normal.
Choose the eorrect answer from the options given below:

1. (A). (B) and (D) only.

2. (A). (B) and (C) only.

3.(A). (B). (C) and (D).

4. (B). (C) and (D) only.
Options:

68019150365. 1
68019150366. 2
68019150367. 3

68019150368. 4

Question Number : 42 Question Id : 68019112766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEddsnaadi &

(A) AfST &1 foarers a0 3 dror 9 Fufa i o1 gwar g

(B) W& 10 &1 AT IR ©

(C) ATfenasT § A1 fage sl oy geu A T fdae ¥ 31t g §
(D)SIS §e U BT § ol H1ed, baid ugfadl & iU 989 S9gad gidl &
- feu U faeedl & 9§ 8l 3R 1

1. %ad (A), (B) AR (D)
2. 94d (A). (B) 3R (C)
3.(A). (B). (C) IR (D)

4.%4ad (B), (C) 3R (D)

Options :

68019150365. 1

68019150366. 2



68019150367. 3

68019150368. 4

Question Number : 43 Question Id : 68019112767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true?

(A) A group of objects or observations is referred to population

(B) A population mncludes limited elements from a set of data

(C) A portion of a population selected to represent the population is referred as sample

(D) An observed set of population that has been selected for analysis 1s referred to as sample.

(A).
(A).
3. (A).
4. (A).

and (D) only.

1. B)
1 B) and (C) only:.
B
C

). (C )and( )-

(B)
(
(
(C) and (D) only.
Options:
68019150369. 1
68019150370. 2
68019150371. 3

68019150372. 4

Question Number : 43 Question Id : 68019112767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEddoRasw e

(A) TR AT V&0 & U G1Ig I gufy I Gahiid fear s g

(B) U THM 1 sfiws! & 9=y § I Hifd dd gid 5

(C) GHS P WA B & o0 T 70 GHY & U o 1 Ufcras el ol &

(D) THD $1 TP Saaiiard G4 (o [a=eyur 3 fofe 1 771 3, 1 Widiasl del ol g

1. 399 (A). (B) 3R (D)
2. %ad (A), (B #Ru;)
3. (4). (B). () R (D)
4.a0 (A), ,af‘mD)

Options :



68019150369. 1
68019150370. 2
68019150371. 3

68019150372. 4

Question Number : 44 Question Id : 68019112768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true?

(A). A measurable characterstic of a population is called Statistic
(B). A measurable characterstic of a sample 1s called statistic
(C). A parameter 1s used to describe the population

(D). A parameter 1s used to describe the sample

Choose the eorrect option from the below

. (A) and (D) only.
. (B) and (D) only.
. (A) and (C) only.
. (B) and (C) only.

o =

e g

Options :

68019150373. 1
68019150374. 2
68019150375. 3

68019150376. 4

Question Number : 44 Question Id : 68019112768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FgddaR I g

(A) THD T T 7Y ffianeive, afdesis eaar s

(B) % Ufaed &1 v 07 siftanafire ufdesis weamdrg |

(C) FafY P aftfd &= & e e wga &1 3w fear Srar s |
(D) wfde=i ol aftla @ & o te urad &1 39anT i omar g
frafefad 7 9 9ol famea 9

1. %ad (A) 3R (D)
2. %dd (B) 3R (D)
3.%dd (A) 3R (C)
4. %ad (B) AR (C)

Options:

68019150373. 1
68019150374. 2
68019150375. 3
68019150376. 4

Question Number : 45 Question Id : 68019112769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true?

(A) Cluster sampling 1s a type of probablity sampling

(B) Systematic sampling 1s a type of probability sampling
(C) Snow ball sampling is a type of non probability sampling
(D) Stratified sampling 1s a type of non probability sampling
Choose the correct option from below

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019150377. 1
68019150378. 2
68019150379. 3

68019150380. 4



Question Number : 45 Question Id : 68019112769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e O A5 I Hel 82

(A) =5 Wic=TH U YPR &I Uil Wid=d= 3

(B) HHES WId90- Uh YHR H1 YIiHdl Uia9a- o
(C) Al 81 Wid99 U YHR H1 TR-UIadl wided- 8
(D) IR Wi U UHR H1 TR-HIdd Wid=u- g

-4 ¥ el fadpeg I

1%3{(4,(3;3#{@)

2. $ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)
4.%dd (B). (C) AR (D)

Options :

68019150377. 1
68019150378. 2
68019150379. 3

68019150380. 4

Question Number : 46 Question Id : 68019112770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Mean deviation about the mean for the data 6, 7.10.12.13.4 8.12 L |5.27
B. |Mean deviation about the median for the data 3.9.53.12.10.18 471921 | II. [16.50
C. |Varniance of the data 6,8,10,12.14,16,18,20,22 24 III. |2.75
D. [Mean of first 10 multiples of 3 IV.|5.74

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (D). (B) - (III). (C) - (ID). (D‘J Ln)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)



Options :

68019150381. 1
68019150382. 2
68019150383. 3

68019150384. 4

Question Number : 46 Question Id : 68019112770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G 1 &1 gt 11§ @ Sifou

1 T I
3idal 6.7.10.12.13.4.8.12 & felY A1 & Grug @1l e L 527
HPal 3.9.5.3.12.10,18.4.7.19.21 @ fore Arfedsas & Gruel Hred fd=ed | 10 |16.50
3PS 6.2.10,12.14,16.18.2022 24 BT TEI I [2.75
3% Ugdl 10 T[0Tl ol H1EH IV [5.74

< feu U fowed 0 @ W6t S|

Ilalw]x

(B‘J (I1). (C) - (11T). (D) - (IV)
(B) - (I1I). (C) - (II). (D“} (IV)
) (B) - (I). (C) - (IV). (D) - (II)
): )

I
I
I
). (B) - (IV). (C) - (I). (D) - (I

(A)-
2.(A)-
(A)-
1.(A) -

(1),
(D).
(111
(111
Options:

68019150381. 1
68019150382. 2
68019150383. 3

68019150384. 4

Question Number : 47 Question Id : 68019112771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LIST IT

Assigning a number to every employee in the
A |Cluster sampling | I |company from 1 to 1000 and select randomly
100 numbers

All emplovees of the company arranged 1n

Simple random alphabetical order and assigned a number 1 to

II.

sampling 1000 , every 10th emplovee on the list 13
selected
S Dividing the emplovees in to male and female,
B2 III. |select 70 male emplovees and 30 female
sampling I ;
emplovees randomly.
Stratified - |Selecting 20 emplovees from five selected
D. : IV.
sampling branches.

Choose the correct answer from the options given below:

(A) - (I). (B) - (I1), (C) - (TIT), (D) - (IV)
(A) - (IV). (B) - (I). (C) - (I). (D) - (III)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1)

g b3 —

Options :

68019150385. 1
68019150386. 2
68019150387. 3

68019150388. 4

Question Number : 47 Question Id : 68019112771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

Gl e 11
Ufa=a &1 UPR rdne™
DU o YD HHARI DI 1Y 1000 TD B
A [TEufdegs | L (€= SR g 100 WS &1 904
B
S o G HHAREl B qUiTEH H
p [ROUEfS® | [o0afd o Siare SR 1 ¥ 1000 9@ 3
B EIGERE - |[g' <l ol &, g2l H 9 ude 10d SHaR
CACBERGRUEEIGI
DHAIGl Dl g8y R Afea H faHifed
C. | U= | 1L [33d. TEfS® 70 U8 SHARAT 3R 30
HigT HHAINRG! BT 989 B o
. |gTa 9afd Traet § 9 20 dHaRG! &1 994
D. [wfed vl IV
-t feu T fosedl O Tel SR I |

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (IV). (B) - (I). (C) - (II). (D) - (III)
3.(A)-(1D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - V). (C) - (I). (D) - (II)

Options :

68019150385. 1
68019150386. 2
68019150387. 3

68019150388. 4

Question Number : 48 Question Id : 68019112772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Iilength of life( in Factory A (Number of Factorv B (Wumber of
ours) bulbs) bulbs)

530-630 10 8

630-750 fal 60

730-830 52 24

850-950 20 16

050-1050 16 12

Match List I with List IT

LISTI LISTII
Mean for Factorv A I. 110998

Standard Deviation for Factory A| II |110
Mean for Factorv B III. |816.67
Standard Deviation for Factory B IV. | 770

ofo[w]w

Choose the correct answer from the options given below:

L. (A) - (IIT). (B) - (I). (C) - (IV), (D) - (II)
2. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A)- (D). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

L]

Options :

68019150389. 1
68019150390. 2
68019150391. 3

68019150392. 4

Question Number : 48 Question Id : 68019112772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



SaH 1 ddlg (el [PREH A (@cgl ®f HREHE B (dcd| B
) | |

530-650 10 8

630-750 72 60

730-850 52 4

830-950 20 16

030-1050 16 12

Wi Hibsi BT UGN Hd gU. (HEfdaRad &1 fiem &3

T 1 =
A |PREFIA S R aTA I [109.98
B. |#REMI A & U 94® fggeq| 1L [110
C. [PREAIB & Oy 1L [816.67
D. |®R@EFI B & [T AF® fdgad | IV, [770
419 ¥ Tet faeea 71

1. (A) - (ID). (B) - (I). (C) - (AV). (D) - (II)
2.(A)- (D). (B) - (). (C) - (I). (D) - (IV)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019150389. 1
68019150390. 2
68019150391. 3
68019150392. 4

Question Number : 49 Question Id : 68019112773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Mean of First n natural numbers L |i-1)/12

B Mean deviation about mean of the set of firstn
" |natural numbers when n 15 an odd number

I o4

. |Mean deviation about mean of the set of firstn F A
C. . III. |[(nt+1) /2
natural numbers when n 1¢ an even number

D. |Vaniance of first n natural numbers IV, [n:—lj in

Choose the correct answer from the options given below:

1. (A) - dID). (B) - (II). (C) - (I). (D) - (IV)
2.(A)-(I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (). (B) - V). (C) - (I). (D) - (I)

Options :

68019150393. 1
68019150394. 2
68019150395. 3

68019150396. 4

Question Number : 49 Question Id : 68019112773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gdt 11 ¥ [HaE $ifen
T I T

A. |WYH n YF QUSR] &1 AT L |(n?-1)/12
o [PEn e s T ma s anE | |,

" |1en fa9aH, 99 o U 9uE TR 8 |

c [P Uil G e G W S e @+ 1)

e e, o o U TR ST 8 o |k
D. [U4H n ¢ QU] BT TERTI IV (n2-1) 4n
- feu U g el O 9 9ol S I |

1. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)

2.(A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)

3.(A) - (D). (B) - (I1). (C) - (IV). (D) - (III)

4. (A) - (IIT). (B) - (IV). (C) - (II). (D) - (I)



Options :

68019150393. 1
68019150394. 2
68019150395. 3
68019150396. 4

Question Number : 50 Question Id : 68019112774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LISTIT
n point of estimate of the population mean from the 1 o
" |data 5.8.10.7,10.14 )
g [pount of estimate of the population standard M ED

" |deviation from the data 5.8,10.7.10.14

point estimate of the proportion in the population
C. |who respond YES 1.e. B0 out of 200 sample of III_ | 0.
individuals 1n a survey.

LA

point estimate of the proportion in the population
D. |who respond NO 1.e. 100 out of 200 sample of IV. |04
indivuduals in a survey.

Choose the correct answer from the options given below:

(A) - (). (B) - (ID). (C) - (I1T). (D) - (IV)
(A) - (I). (B) - (III). (C) - (II), (D) - (IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

b

L)

Options :

68019150397. 1
68019150398. 2
68019150399. 3

68019150400. 4

Question Number : 50 Question Id : 68019112774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 ¥ [HaH $iforn
T I T

5 HSl 5.8.10,7.10,14 P FAMY A1 BT THAA
N

B3I 5.8.10,7.10,14 T FAY A [GTa &1
Hpofdg &

HHP o1 d8 3 UId Sl 81 H SaTe Gdl & 3fid
C. |o® gderr d eigaal & 200 & Ufdez d H 8o, |11 0.5
DI 3HThaA fdg

TP &1 98 0 o 15 o4d19 &d & HYid
D. [ud gdeur & sufdaat & 200 ufagei H T 100, |1V |04
GRS CANEATH

- fau e fdedl O 9§ 9ol SR I |

1. (A) - (1), (B) - (I1). (C) - (III), (D) - (IV)
2.(A)-(1).(B) - (1II). (C) - (II), (D) - (IV)
3.(A) - (D). (B) - (I1). (C) - (IV). (D} - (11T)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

II. |31

Options :

68019150397. 1
68019150398. 2
68019150399. 3

68019150400. 4

Question Number : 51 Question Id : 68019112775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which unit of the CPU performs the mathematical and logical operations?

1. Arithmetic Logic Unit
2. Control Unit

. Memory Unit

4. Input and Output Unit

Taa

Options :
68019150401. 1

68019150402. 2



68019150403. 3
68019150404. 4

Question Number : 51 Question Id : 68019112775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ity &1 o1l gfe MK 3R difdd Ul &1 Tare HRdl 92

 3RyAfes o gfe
 PUgId gfe
4. 3779 3R 3M3cye gf+e

Options :

fad b2 =

68019150401. 1
68019150402. 2
68019150403. 3
68019150404. 4

Question Number : 52 Question Id : 68019112776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'"DBMS’ stands for

1. Database Memory System

2. Database Management System

3. Digplay Base Memory System

4. Data Browsing Management System

Options :

68019150405. 1
68019150406. 2
68019150407. 3

68019150408. 4



Question Number : 52 Question Id : 68019112776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DBMS' &1 JUf =1 H

1. e ¥ HARI fEen

2. STTEY HuHe feH

3. oot 99 7ART faed

4. ST SISf6iT HAetHe fEes

Options :

68019150405. 1
68019150406. 2
68019150407. 3

68019150408. 4

Question Number : 53 Question Id : 68019112777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Short form of binary digit 1s.............

1. Byte
2. Hertz
3. Bt

4. watt

Options :

680191504009. 1
68019150410. 2
68019150411.3

68019150412. 4

Question Number : 53 Question Id : 68019112777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fgameRt 3 1 Tfarg =a gl
1. dlgc
2. Beul
3. fae
4. dIc
Options:
68019150409. 1
68019150410. 2
68019150411. 3

68019150412. 4

Question Number : 54 Question Id : 68019112778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Decimal number 147 is equivalent to binary number

. 10010011
. 11010010
. 10001011
4.10010101

Options :

|

L]

68019150413. 1
68019150414. 2
68019150415. 3

68019150416. 4

Question Number : 54 Question Id : 68019112778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SYOad g 147 fesnur e P e o

. 10010011
. 11010010
. 10001011
4.10010101

Options:

|

L]

68019150413. 1
68019150414. 2
68019150415. 3

68019150416. 4

Question Number : 55 Question Id : 68019112779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 TB is equal to

. 1024 KB

. 1024 Bytes

. 1024 MB
4.1024 GB

Options :

|

L]

68019150417. 1
68019150418. 2
68019150419. 3

68019150420. 4

Question Number : 55 Question Id : 68019112779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 1024 KB
2. 1024 Bytes
3.1024 MB
4.1024 GB



Options :

68019150417. 1
68019150418. 2
68019150419. 3

68019150420. 4

Question Number : 56 Question Id : 68019112780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which protocol 1s used i this address "http:// www.computerstudy.co.in/ict_books.html]"?

1. www.computerstudy.co.in
2. 1ict_books.html

3. http

4. .co.n
Options :
68019150421. 1
68019150422. 2
68019150423. 3

68019150424. 4

Question Number : 56 Question Id : 68019112780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THTd "hitp:// www.computerstudy.co.in'ict_books.htm]" T fob g WiIciopie 1 U fohan T
%7

1. www.computerstudy.co.in
2. 1ct_books.html

3. http

4. .co.in

Options :
68019150421. 1
68019150422. 2



68019150423. 3

68019150424. 4

Question Number : 57 Question Id : 68019112781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT the name of a networking topology?

. Mesh topology
. Bus topology
3. Plant topology
4. Tree topology

| R

Options :

68019150425. 1
68019150426. 2
68019150427. 3

68019150428. 4

Question Number : 57 Question Id : 68019112781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Frafafad & § S wr Jeafd erdrsht o1 919 el 82

1. T erarareil
2. 9 cgrarSlt
3. Wile et
4. Sl et

Options :

68019150425. 1
68019150426. 2
68019150427. 3

68019150428. 4



Question Number : 58 Question Id : 68019112782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

High speed storage areas within the computer are

. interrupts
. registers
3. buses

4. RAM

Options:

o =

68019150429. 1
68019150430. 2
68019150431. 3
68019150432. 4

Question Number : 58 Question Id : 68019112782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FeR & IR 3= TR SR 8 gl

1. ddhIac
2. YforeR
3. 89
4.39

Options :

68019150429. 1
68019150430. 2
68019150431. 3

68019150432. 4

Question Number : 59 Question Id : 68019112783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

"Buffer' means

. temporary area of memory.

. software running in the background.
3. signals from device to the processor.
4. controlling unit in the system.

I =

Options :

68019150433. 1
68019150434. 2
68019150435. 3

68019150436. 4

Question Number : 59 Question Id : 68019112783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. TERI ®T SRt &)

2. gBYH ¥ HiTedtR 9 6T 6|
3. UG Y YIRITR Bl Yo |
4, YTl § fRgau srs |

Options :

68019150433. 1
68019150434. 2
68019150435. 3
68019150436. 4

Question Number : 60 Question Id : 68019112784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Function of the Control Unit in the computer system 1s

1. carries out arithemetic operations.
2. carries out logical operations.

. send signals to coordinate all components.
4. hold memory locations.

L]

Options :

68019150437. 1
68019150438. 2
68019150439. 3

68019150440. 4

Question Number : 60 Question Id : 68019112784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. tRAEfe® ifRTT Pl

2. ATfdep e Bl ol

3. guft gl &f gafad $3 & o 9dd Ieiar o
4. BERY = &1 AP & @ ol

Options :

68019150437. 1
68019150438. 2
68019150439. 3

68019150440. 4

Question Number : 61 Question Id : 68019112785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



18 an example of an QOutput Device.

1. Projector
2. Scanner

. QR Reader
. Joystick

L]

=

Options :

68019150441. 1
68019150442. 2
68019150443. 3

68019150444. 4

Question Number : 61 Question Id : 68019112785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T3Ye [SaI5d &1 Ud Jarevl g

Options :

68019150441. 1
68019150442, 2
68019150443. 3

68019150444. 4

Question Number : 62 Question Id : 68019112786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A set of possible data values for a database 1s called

1. Degree
2. Attribute
. Domain
4. Field

Options :

L]

68019150445. 1
68019150446. 2
68019150447. 3

68019150448. 4

Question Number : 62 Question Id : 68019112786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

% Selay & fou guifdd Se1 5l &1 1 Je HEI A 5

1. fedl
2 [ 11

3. 519

4. Blce
Options:
68019150445. 1
68019150446. 2
68019150447. 3

68019150448. 4

Question Number : 63 Question Id : 68019112787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of Pseudocode for counting even numbers between 50 and 500
including both values.
(A). num = 50
count =0
(B). PRINT count
(C). num =num + 2
count = count + 1
(D). WHILE num <= 500 THEN
Choose the correct sequence from the options given below:

L, {C),
A

—
¥ )

(D).

IwJI—l
=EBE
@5@@

(A
A (C)
(A).(B). (D
1.(A). (D). (C

-l-':..u
.r'_‘\r‘_‘\

Options :

68019150449. 1
68019150450. 2
68019150451. 3

68019150452. 4

Question Number : 63 Question Id : 68019112787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<1 A |1%d 50 3R 500 F a9 §9 G@AS & R & U geiels & Fefirad awul
DI FaRYd Be|
(A). num = 50
count=10
(B). PRINT count
(C). nuin = num + 2

count = count + 1
(D). WHILE num <= 500 THEN

9 Ry e R A2 98 s

Options :
68019150449. 1

68019150450. 2



68019150451. 3
68019150452. 4

Question Number : 64 Question Id : 68019112788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ATM stands for

. Any Time Money

. Automated Teller Machine

. Automated Transfer Money
4. Automatic Transfer Machine

|

L]

Options:

68019150453. 1
68019150454. 2
68019150455. 3
68019150456. 4

Question Number : 64 Question Id : 68019112788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATM T 34 8 |

1. Any Time Money

2. Automated Teller Machine
3. Automated Transfer Money
4. Automatic Transfer Machine

Options :

68019150453. 1
68019150454. 2
68019150455. 3

68019150456. 4



Question Number : 65 Question Id : 68019112789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of algorithm to calculate the factorial of a given number.
(A). Keep multiplying the Result with num until the num decreases to 1.

(B). After each multiplication subtract 1 from num.

(C). Accept a number, num, from user and set value of Result as 1.

(D). Display the Result.

Choose the eorrect answer from the options given below:

)-(A).(B). (D
) (B). (D). (
). (D). (A). (
)- (B). (D). (A

1.(C )
1 (A ).
3.(C B).
4.(C )
Options:
68019150457. 1
68019150458. 2
68019150459. 3

68019150460. 4

Question Number : 65 Question Id : 68019112789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 5 TE & AR INGa B UM $- o folg TR o HRaRad 9)ul & sard el
A). Resultﬁmun@ﬁﬂﬁﬂ”ﬂﬁﬂﬁﬁﬁﬁ%numw 1 qﬁml
B).WW%WHHIH@I%@'

(C). W@Wmun. T WIBR B3 3R Result BT AM 1 Feiia &3

(D). Result l;i'c{ff{h P

T4 feu e fosedl & 9 98l SR |

Options :
68019150457. 1

68019150458. 2



68019150459. 3
68019150460. 4

Question Number : 66 Question Id : 68019112790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following according to the given sequence:

(Input Device -- Output Device -- Storage Device -- Operating System)
(A). Ubuntu

(B). Printer

(C). Blue Ray Disk

(D). Scanner

Choose the correct answer from the options given below:

- (A). (B). (C). (D).
. (D). (B). (C). (A).
.(B). (A). (D). (C).
(0). (B). (D). (A).

|

e Taa

Options :

68019150461. 1
68019150462. 2
68019150463. 3

68019150464. 4

Question Number : 66 Question Id : 68019112790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau Y o & R FEidaiEad o sgafeyd o1
(A). SEE

(B). fiex

(C). &I X T5%p

(D).

- feu e f[d@ el O 9§ 981 SR I |

- (A), (B). (C). (D).
(D). (B). (C). (A).
.(B). (A). (D). (C).
4. (C). (B). (D). (A).

L bBd —

Options :

68019150461. 1
68019150462. 2
68019150463. 3

68019150464. 4

Question Number : 67 Question Id : 68019112791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) are TRUE?

(A). Digital Communication includes E-mail . texting and instant messaging.
(B). Trojan is an example of Social media platform.

(C). Credit card details of a person 1s an example of sensitive data.

(D). Digital citizen 1s anyone, who uses digital technology along with internet.
Choose the correct answer from the options given below:

. (A). (B) and (D) only.
.(A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (A). (C) and (D) only.

o =

iz

Options :

68019150465. 1
68019150466. 2
68019150467. 3

68019150468. 4



Question Number : 67 Question Id : 68019112791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T oR S Sy 98l 82

(A). fSfoTed TOR | 3-94. o 3R S iR IHa g |

(B). TTo TINIe Hif Sl e ®iH &7 U9 3aeU 2|

(€). o4l cafdd & BfSe PIS &l f[Aa0 Ydeiia ocl &1 UF 3alev ol

(D). ffoTed AMe a8 & Ol Sex-c & WrY-um fSfored d@-1a &1 S9ul Hdl 6|
i feu U fadhedl § © 98! SR |

1.(A). (B) 3R (D) Pad

2. (A). (B) 3R (C) had

).

).
3.(A). (B). (C) 3R (D)
4.(A). (C) 3R (D) dad

Options :

— e e

68019150465. 1
68019150466. 2
68019150467. 3

68019150468. 4

Question Number : 68 Question Id : 68019112792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following data elements in order from smallest to largest.
(A). Field

(B). File

(C). Database

(D). Record

Choose the correct sequence from the options given below:

1. (A). (B). (D). (C).
2. (B). (A). (C). (D).
3. (A). (D). (B). (C).
4. (B). (A). (D). (C)

Options :
68019150469. 1

68019150470. 2



68019150471. 3
68019150472. 4

Question Number : 68 Question Id : 68019112792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafeiad Se1 ddl @ Jad Sic 9 999 g8 H | oJaiadd &1 |
(A). Bt

(B). Bigd

(C). SeEd

(D). R@is

-2 fau e fae el § 9 98l 3 H 1

.(A). (B). (D). (C).
.(B). (A). (C). (D).
.(A). (D). (B). (C).
.(B). (A). (D). (C)

fag b2 —

=

Options :

68019150469. 1
68019150470. 2
68019150471. 3

68019150472. 4

Question Number : 69 Question Id : 68019112793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are clear examples of Computer Ethics followed?

(A). A engineer works for a software company during the day but also does freelancing without
mforming his parent company.

(B). A company employs people in different countries to write software modules and these
modules are put together to produce software packages.

(C). A software engineer develops software for a security company. He used the same features
for developing a software for his friend's organization.

(D). A software engineer undergoes training by a different company to improve his software
development skills.

Choose the correct answer from the options given below:

1. (B) and (D) only.
2.(A). (B) and (C) only.
3.(C) and (D) only.

4. (B). (C) and (D) only.
Options :
68019150473. 1
68019150474. 2
68019150475. 3

68019150476. 4

Question Number : 69 Question Id : 68019112793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffred & & & 91 HUF SR Afded & WY e 8

A). U5 uilOR [ T U WIHedaR Y] & 1310 &1 =al & dich 3791l T hurl Pl
AT fT iR S = g |

(B). U DU HITedtR Hisyd fera & foru fafim =it & ol o1 e ol & $iR &
HiSd B ITeauR Udrel §MH o (1Y U 1Y 1 &l ¢ |

(C). U SITFEATR SR U qR&T HUH| & [0 SIredwR [aafid a5l 35l S
i1 o 73 & foTu U Wit anR faaihd B & oy 351 [qeiaiail &1 SuahT faar|

(D). U5 WHEaTR Suill-R 3T HFEaTR [oTH DI Bl S5 T & (070 U Sfef
U & IRIE A B

4 fu T fosedl § ¥ 95l I |

1. (B) 3R (D) Had
2. (A). (B) 3R
3.(C) 3R (D)

4.(B). (C)aﬁ?
Options :

(}%‘ﬁa
(D) Sdd



68019150473. 1
68019150474. 2
68019150475. 3

68019150476. 4

Question Number : 70 Question Id : 68019112794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1% an extension of Batch file.

1. .exe
2. .doc
3. wav

4. bat
Options :

68019150477. 1
68019150478. 2
68019150479. 3

68019150480. 4

Question Number : 70 Question Id : 68019112794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o9 igd BT P [dEIR g

1..exe
2. .doc
3. .wav
4, bat

Options:

68019150477. 1
68019150478. 2
68019150479. 3



68019150480. 4

Question Number : 71 Question Id : 68019112795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) 1s/are TRUE?

(A). Virus is a program code that causes the computer to malfunction.

(B). Phishing means sending legitimate looking emails to encourage users to give out sensitive
data.

(C). Firewall examines traffic betweeen users computer and public network.

(D). Freeware 1s a software that a user can download free of charge.

Choose the correct answer from the options given below:

(A). (B) and (D) only.
.(A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

1.
1 B
B
¥
Options :

68019150481. 1
68019150482. 2

68019150483. 3

68019150484. 4

Question Number : 71 Question Id : 68019112795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150481. 1
68019150482. 2
68019150483. 3

68019150484. 4

Question Number : 72 Question Id : 68019112796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following types of printers in the increasing order of their printing speed.
(A). Inkjet Printer

(B). Laser Printer

(C). Dot Matrix Printer

(D). Daisy Wheel Printer

Choose the correct answer from the options given below:

1.({B), (A), (D), (C)
2.(A).(B). (D). (C)
B).(A). (C). (D)
D). (C). (A). (B)
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3
4.
Options:

68019150485. 1
68019150486. 2
68019150487. 3

68019150488. 4



Question Number : 72 Question Id : 68019112796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad yeR & el &1 3! oui id & §¢d o o oHafid &1 |
(A). RuIC fier

(B). WoR flex

(C). Sic Bfeay fifex

(D). Suil &idl fUiex

- feu e fas el O 9§ 981 S I |

.(B). (A). (D), (C)
.(A), (B). (D). (C)
.(B). (A). (C). (D)
4. (D). (C). (A). (B)
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Options :

68019150485. 1
68019150486. 2
68019150487. 3
68019150488. 4

Question Number : 73 Question Id : 68019112797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I wath List IT

Lhed LISTII
Governement .
= Details
Intiatives
 |[UMANG [ |Single mobile platform to deliver e-Gov various services across India

R & D organization of Ministry of Electronics & IT for carrying out R & D n
IT. electrotucs and other associated areas

. |C-DAC 1. Tt allows individuals to store, share and verify documents and certificates.

ICT platform of Prime Minister Office to review and monitor various Central
Government projects.

A
B. |IDIGILOCKER |IL
C
D

. |PRAGATI IV.

Choose the correer answer from the options given below:

1. (A) - (IV), (B) - (II), (C) - (111). (D) - (I)
2.(A)-(I). (B) - (I). (C) - (II). (D) - (IV))
3.(A)-(I1). (B) - (). (C) - (TI). (D) - (IV)
4.(A)- (D). (B) - (IV), (C) - (III). (D) - (1)

Options :

68019150489. 1
68019150490. 2
68019150491. 3

68019150492. 4

Question Number : 73 Question Id : 68019112797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150489. 1
68019150490. 2
68019150491. 3

68019150492. 4

Question Number : 74 Question Id : 68019112798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Verification of a login name and password 1s known as

1. Configuration
2. Encryption
Authentication
4. Automation

Taa

Options :

68019150493. 1
68019150494. 2
68019150495. 3

68019150496. 4



Question Number : 74 Question Id : 68019112798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR 911 AR Uds & A0 &l P EYE SAT A gl

1. faarg

2. Py

3. JATUIEBROT

4. Wl
Options:

68019150493. 1
68019150494. 2
68019150495. 3

68019150496. 4

Question Number : 75 Question Id : 68019112799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

A |ICD I. |1t 1s made up of capacitors and transistors.

It 15 a faster memory used to reduce the
B. |Magnetic Tape | II. |average time to access data from main
MEmory.

It iz a long and narrow strip of plastic

C. |Cache Memory| IIL : i : ;
: having thin magnetic material coated on.

It stores and retrieves data with the help

D (B o of an optical mechanism.

Choose the correct answer from the options given below:

(A)-(IV). (B) - (IIT). (C) - (IT). (D) - (I)
. (A) - (D). (B) - (IV). (C) - (I). (D) - (I)
- (A) - (D). (B) - (D). (C) - (IV). (D) - (I1I)
. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

fad b2 —

i

Options:



68019150497. 1
68019150498. 2
68019150499. 3

68019150500. 4

Question Number : 75 Question Id : 68019112799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 151 gt 11 ¥ [HaE $ifern
a1 T 1
SUHI quH
A &t 1 |98 HUffeR AR T Y S 8|
T8 U ool HAR & forder Ui 9= 4A1 |
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D. [StiRegs |1V R g Bl g |
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1. (A) - (V). (B) - (II). (C) - (II). (D) - (I)
2. (A) - (). (B) - (IV). (C) - (I). (D) - (I)
3.(A)- (D). (B) - (II). (C) - (IV). (D) - (II)
4. (A) - (D). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019150497. 1
68019150498. 2
68019150499. 3

68019150500. 4



